A
T

F6EE(FE48M) BHETFIFITIILITEFIERE F&

SH6E5H250 TR FRIINIHST #Ha—X

[:}2 K# X ouT IN TOTAL JIE {2 K4 X ouT IN TOTAL
1 ki RETH | BH 37 36 73 46 EHE 13 fimiT 45 44 89
2 2% it 5T 37 38 75 47 | thiEN = | EBH 44 45 89
3 TE 4t i=Fix 38 38 76 48 HiE FSH | HEET 44 45 89
4 ek ¥ (i=Fia 37 41 78 49 8K B | kEF 46 44 90
5 B ERI i=Ean 41 38 79 50 &Lt #sh &t 43 47 90
6 EA IEA | FEETHET 39 40 79 51 RRER BA 55T 46 45 91
7 WE EX BH 41 39 80 52 ZH A HHH 48 44 92
8 thmE B = 40 40 80 53 #E BEA LU 45 47 92
9 mE RE2 | 1BH 43 38 81 54 He #5 &t 44 48 92
10 5 RiE | #Eih 40 41 81 55 Z#HA EX | #Eh 48 45 93
11 | #0i BERER | @ 39 42 81 56 I\K #— i=Fia 50 44 94
12 iR HHio 43 39 82 57 XIE B= | kFEF 50 44 94
13 R F1F (i=Fia 41 41 82 58 RFT B2z | METH 49 45 94
14 LT ERE =H* 40 42 82 59 M FF0 Hhio 47 47 94
15 BA Eh BH 39 43 82 60 TR HE e 45 49 94
16 W HE i=Ein 44 39 83 61 ZH #B— i pA 55 40 95
17 £ BEZ i 43 40 83 62 b M2 (i=Fia o1 44 95
18 #BH HX =H* 40 43 83 63 IS g 50 45 95
19 E)II BRI {i=Fix 41 43 84 64 HH EH# i=Fia 46 49 95
20 MA Et i=Fix 41 43 84 65 =it JFE INE 49 47 96
21 migE 88 | kKFEF 41 43 84 66 IR BhRK | EEETET 48 48 96
22 | KK {E# i=Ean 41 43 84 67 | =V Bz | R 46 50 96
23 £2H FiE {i=Fix 45 40 85 68 AR Eif i=Fix 45 51 96
24 RFT F AT T 44 41 85 69 EM fE— i=Fix 50 47 97
25 XA Fsh =H 42 43 85 70 =EH #i7 i=Ean 51 47 98
26 =25 — fi5:T 39 46 85 71 HE %2 =B 49 49 98
27 ¥E BX | BB 39 46 85 72 fEfE RX = 51 48 99
28 Bl BfE HHH 47 39 86 73 AiF Bt = 46 53 99
29 | Ay EER | T 46 40 86 74 IR KA =H 44 55 99
30 ME EE | Hbo 44 42 86 75 TR & i=Ean 50 50 100
31 BH¥> ahsE BH 44 42 86 76 H FE— i=Ean 50 50 100
32 #5 EB (i=Fia 44 42 86 77 EiE B = 57 44| 101
33 KZE BEA =H 43 43 86 78 =z BB i=Ean 54 47 101
34 Rk == W 42 44 86 79 WA @t =ik 45 56/ 101
35 HBE EX BH 44 43 87 80 J\H g3 i=Ean 49 53 102
36 iISF B = 43 44 87 81 A Kt 3E 49 53 102
37 LT #ERE 5T 42 45 87 82 | &I A | EH 48 54/ 102
38 HH FE Ci=Fix 46 42 88 83 WA 2z i=Fix 46 56/ 102
39 KEE BHE i=Fis 43 45 88 84 EA EfE | HAIHE 46 58 104
40 HE EZ R 42 46 88 85 iR IESE =i 52 53| 105
41 Fi EH Bg5 LU 41 47 88 86 M e 5 Fi BT 49 57 106
42 hH EE i=Fix 48 41 89

43 | TEiR #—8 | f&H 47 42 89

44 | W O#T | Hbb | 46] 43 89| [ k| s %47 | #ad |

45 fEA BEEsh (=P 46 43 89




